


run = 30 fit. Find the slope of each of the ramps.
I Which varlahle do we use for slope?
rise =101t } We use the vaciable
slope: == 04 m for slope

run=30ft. 206t



@ Choo% any | poin’rs

on the line.

@ Count +he RISE between the

2 ()o'mts (sh.ﬁL with left Po'mi),

up = ‘)osn“Na,

down = Mﬂo\’rivt

(2 Count the RUN. -1

1 you storted with the 14 ‘
YeFtmest eoint Vou will A(i

olways move cight, which
t5 the. ositive dicection




ex1) Find the slope of each line.
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To find Sloge: ® Choose QL pownts
@) Count Hhe RISE
O, Count the RUN
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POSITIVE SLOPES appear UPHILL from left to right.
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NEGATIVE SLOPES appear DOWNHILL from left to rigit.



ex2) Find the siope. ex3) Find the siope.
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sublract the &
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ex4) Find the slope of the line that passes through

the points (9, 6] and (1, 3).
X1 Y,




il

the points l)!. 31 and (9, 6).

(Switched order from example 4)
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Notice that it does not
vatter which point yov start
with. We found o slope of <
for both exaemples 4 and 5

The ivpoctont thingy 15 that you
prck an oedered poir oad start-theee
for BOTH the x and ycoodinates,



the points (-4, 6] and (1, -2).
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exn) Find the slope of the line that passes through

the points (4, -1) and (-3, -8).
Xy Y|
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W=7

—= (V) 15 undefined




HORIZONTAL LINES
m=0

zeroin
RISE NUMERATOR
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ex10) Graphthe line thathas a extl) Graphthe line thathas a

slope of 1/2 and passes slope of 0 and passes
through (-1,-4). \ through (3, -3).
M= "2 <cvn (s19ht 2) wi: O (hocrzoalal IMQ)
N




ex12) Graph the line that has a
slope of -3/4 and passes

through (-6, 7).
Wi = T{—é— cva(cioht ‘l>

ex13) Graph the line that has

undefined slope and
passes through (9, -1).
W is uade &I}eg (vertical line)
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